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ENGINEERING TRIPOS PART IIB 2019

ASSESSOR’S COMMENTS 4D10 Structural Steelwork

Q1 Subframe analysis, column buckling and Lateral-Torsional Buckling of a beam

A popular question, well-answered by most candidates. The question tested three separate topics. A
common place where marks were lost was via the incorrect use of the 0.75 factor for “far-end-pinned”
beams in the part a) stiffness factors.

Q2 Interaction diagrams for beam-column stability
A popular question and many answers were almost fully correct, despite the numerous calculations
required. Many of the errors were arithmetical. Marks were lost for failing tocheck compactness.

Q3 Composite floor design

This was a popular question attempted by all candidates. The methodology is now well-established in
the lecture notes, examples papers and past papers, and the students have demonstrated that they can
reliably undertake all the numerous computations required, even under examinations conditions.

Q4 Thin-walled box girder using stiffened plates
There were numerous very good answers submitted. Marks were mostly lost for arithmetic errors, and

when students ran out of time.

Allan McRobie (Principal Assessor)



